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1 Evaluate...

2
10003

Write the Express the ) , , Find the
following in the fol'ljowing with 4 Multiply out the O Calculate.. | 6 Write the following 7 :
: : init's simplest|  equation of the
form..| 10 ¢ rational | following brackets index line passin
= (x+ a)® + b. denominator | and simplify... 1 2 3xOx 8x”7 form.. P 9
and simplify 2—+1-— - - through
y=x*+8x—1 V2 if required... | (4x —9)(x? — 3x + 10) 4 3 2x% (2, 3) and (6, -9).
i Determi heth
8 vectara- (}) | 9 Seve e following [ 1) Determine herner 141 12 change the | 13 Calilte he
system of : 9 I ) missing volume...
2 equations... right-angled... | 8882 subject of the
and vector b = (.32 ) (i 54 m Solve B formula to b.. t ©
i 5x + 2y =33 X+ 1=0 iém 12.m
Calel b _ 22-5m - giving your solutions a = 8b2 +3 i !
alculate |a + | 3x + 4y —_ 17 38 - 5m tol dGCImCll place... Volume=? Volume=72 cm?
The diagram shows A grandfather Express this
Y equation; standard deviation | value at a rate of 3% p.a. | it's simol 11m
o for the following T+ was worth £800. ength | it's simplest form... -
(.80 ¥y =kx SEE.': data set... E How much will it be 10m Tho'f — 49
. worth in 3 years Is Calcul
What is the alculate the
valuelof k? 32,32,36,37,38 time? & arc... X2 + 5x — 14 area of the triangle...
2 Determine the What are the | 292 A functionis | 2 3 Calculate the length 24 Solve the | 25 calculate the
0 gradient and the coordinates of G? defined as 3 of the missing 5"' following 5semi-im‘erquarﬁle
y-intercept of the [ %1 ¢ F(15,9,6) x mm :f; equation... range for the following
following equation... | © — f(x) = x% + 8x samm | X X data set...
= B i - 2 9T 77,79, 80, 81, 82, 84, 86
x + 9y pY ) Find f(-1). | ’®™ 3T3=20
A
Solve the Find the value What are the The volume of
26 Add the 27 equation 28 of d.. 29 - sizes of ,‘ this sphere is
following fractions... q i the | (& 723456 cm?.
Factorise... interior
8sinx°+5:=2 REGULAR
6 + 2 ) HENDECAGON and Calculate
A = — exterior it's
(x+5) (x+4) | forOcx<360, [emp\T /7 [@ | 2r° —11r +15 angles? radius..




